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NC11 P3-1
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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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3000

Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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P3-1

BflE | ERMK@E) | EREERH/4R | EREE (/R [RKS R

08:00 283 150.0 2. 583 5| FEAC08:00 KENFEF (RAfEEE)
08:30 283 150.0 2.583 5| FEAe08:30 KEFEFE (RAMEEE)
09:00 283 150.0 2.583 5| FiHAe09:00 KREHFEF (KEAERSE)
09:30 283 150.0 2.583 = FiHR@09:30 KREIEF (REEESE)
10:00 283 150.0 2.583 5| FEAe10:00 KEFEFE (CRAFESE)
10:30 283 150.0 2.583 5| FiHRe10:30 REHEFE (REAERSE)
11:00 283 150.0 2.583 = FHRe11:00 REIEF (GREERSE)
11:30 283 150.0 2.583 5| FHAe11:30 KEIEFE CGRAMFESE)
12:00 283 150.0 2.583 5 FHAe12:00 KEIEF CGRAEESE)
12:30 283 150.0 2.583 5| THRe12:30 KENFEF CGRAEES)
13:00 283 150.0 2. 583 5| FEAe13:00 KEFEFE CGRAEESE)
13:30 283 150.0 2.583 5| FHAe13:30 KEIEF CGRAMEESE)
14:00 283 150.0 2.583 5| FiHe14:00 REEEF (KREERSE)
14:30 283 150.0 2. 583 5| FEAe14:30 KEIEFE CGRAMFESE)
15:00 283 150.0 2.583 5| FiHRe15:00 REHEFE CGREAERSE)
15:30 283 150.0 2.583 5| TiHe15:30 REEF (KEAERSE)
16:00 283 150.0 2. 583 5| FEA@16:00 KEFEFE (CRAMHEE)
16:30 283 150.0 2.583 5| FEAe16:30 KEIEFE CGRAFESE)
17:00 283 150.0 2.583 5| FiHRe17:00 REHEFE (REAERSE)
23t 5377.0 (19%) 2850. 0 32 HKEC: 2080.0, PH: 5.6

[E;&REC 5820.0 K&, EiNF{KECAE & M%ER
#[EKECE (1820.0 vs 5820.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-1_0, Day=69 (2025-06-06)
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P3-1

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:40 273 150. 0 2.583 E|  {Rige07:40 B3h (RE{EREE)
08:15 273 150.0 2.583 |Z=| {Ri%e08:15 Bzl (KREAEZHE)
08:50 273 150.0 2.583 (Z=| {Ri%@08:50 Bz (FRAERHSE)
09:25 273 150.0 2.583 FE| 1BRi&@09:25 Bzh (RAAEREEE)
10:00 273 150.0 2.583 FA| 1BRi%@10:00 B3h (KRAHEREEE)
10:35 273 150.0 2. 583 FA| {Ri%@10:35 Bz (GRAEESE)
11:10 273 150. 0 2.583 FA| fBi&e11:10 B3h (RAFEREE)
11:45 273 150.0 2.583 FR| {Ri&e@11:45 Bz (GGRAEEE)
12:20 273 150.0 2.583 FH 1Rige12:20 Bzh (GRAEREE)
12:55 273 150.0 2.583 FA| 1BRi%@12:55 B3h (RAERSE)
13:25 273 150.0 2.583 (Z=| 1Ri&@13:25 Bz (RAEHSE)
13:55 273 150.0 2.583 (£ =| {Ri%@13:55 Bz (REAEHSE)
14:25 273 150. 0 2.583 |Z=| BRige14:25 Bz (GRAERESE)
15:05 273 150.0 2.583 (Z=| {Ri%@15:05 Bz (FRAEHSE)
16:00 273 150.0 2.583 (Z=| 1Ri%@16:00 Bz (KREAERSE)
16:45 273 150.0 2.583 (Z=| {Ri%e16:45 Bz (KREAEHSE)
2it] 4368.0 (167%) 2400. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (278:81.0), set to 278 ml

RE R i BlRECKIHE TR K.

[E;&%EC 5360.0 K5, EiFHKECAE&IREER
#[EKECE (1773.0 vs 5360.0) T 5
REXR EBT I HEREC/PHERR K, AIREZINIEAR K




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=68 (2025-06-05)
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400 600 800 1000 425 430 435 480 485 490 555 560 565
m=600,m FV0=0 m=635,m FV0=0 m=665,m FV0=0 m=710,m FV0=0
29.5 09, 5
—-o— ME : —— ME | 30.5 —— ME | . .| —o— ME
29.0 i
29.0 300 -
30.0
] 28.5
28. 5 29' 5 .
29.5 °
28.0
28.0 29.0
29.0
27.5
27.5 - 28.5 1
27 0- 28.5
28.0
27 0 T T T T T T T T T T T T
600 605 610 635 640 645 665 670 675 710 715 720
m=755,m FV0=0 m=805,m FV0=0 m=850,m FV0=0 m=890,m FV0=0
30.0 1 —e— ME 20,0 - —o— ME —e— ME 31.0 1 —e— ME
29.5 4 29.5 1 30.5 -
29.5
29.0 .\. 29 0 - 30.0 4
29.0
28.5
28.5 29.5
28.5
28.0
i 28.0 - 29.0 1
27.5 28.0
T T T T T T T T T 28.5 - T T T
755 760 765 805 810 815 850 855 860 890 895 900
m=970,m FV0=0 m=1035m FV0=0 m m=425,m FV0=0
31.0 —o— ME —— ME 32 —— MW 9 | —— MW
31.0
30. 5 28
30.5 30 ®
30.0 27 -
30.0 A 28 -
29.5 4 26 -
29.5 A 26
29.0 - 25 1
29.0
28.5 24 1 241
970 975 980 1035 1040 1045 400 600 800 1000 425 430 435

m m m m



m=480, FV0=0

2 —— MW
31 4
30 A
29 \H‘*o—o
28
27 4
T T T
480 485 490
m=665,m FV0=0
—— MW
31 4
30 A
29 ‘\“‘M
28
27 R T T T
665 670 675
m=850,m FV0=0
—— MW
30 A
29
@
28
27 4
850 855 860

m=595, FV0=0

31 A

30 A

29 -

28 A

27 -

26

——

M_W

555

T T
560 565

m=710,m FV0=0

31 A

30 A

29 A

28 A

27 -

——

M_W

710

T T
715 720

m=890,m FV0=0

31 4

30 -

29 A

28 A

27 -

—o— MW

890

895 900

m=600, FVO0=0 m=635, FV0=0
31 4 31 +
—-— MW —-— MW
30 + 30 -
29 - 29 -
28 - 28
27 27 A
26 26
T T T T T T
600 605 610 635 640 645
m=755,m FV0=0 m=805,m FV0=0
31
—-o— MW -o— MW
30 + 30 A
29 - 29
[ o
28 - 28
27 27 4
T T T T T T
755 760 765 805 810 815
m=970,m FV0=0 m=1035m FVO=0
31 1 —— MW 31 —— MW
30 + 30 4
29 + 99
28 -
28 -
27 4
T T T 27 L T T T
970 975 980 1035 1040 1045
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P3-1

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (KRFAERSE)
09:10 273 150. 0 2.583 E[ BRi%e09:10 Bz (GRAERSE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:25 273 150.0 2.583 = {Ri%@10:25 B (RAERSE)
11:10 273 150. 0 2.583 El BRige11:10 Bz CGRAERESE)
11:50 273 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:25 273 150.0 2.583 =l RiBe12:25 B (REAKESE)
13:05 273 150. 0 2.583 E BRige13:05 Bz (GRAERESE)
13:50 273 150.0 2.583 5| {Ri%e13:50 B3 (GRAERSE)
14:20 273 150.0 2.583 =l {Rig014:20 B3 (RAERSE)
14:50 273 150. 0 2.583 E BRige14:50 Bz (GRAEREE)
15:30 273 150.0 2.583 5| {Ri%e15:30 B3 (RAERSE)
16:15 273 150.0 2.583 =l RRiB016:15 Bz (RFEAEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (30:204.0), set to 30 ml.
BE X 17 [o] /RECET B B k.

BE[EIRECE (1780. 0 vs 4900.0) 535

REXREB I HEREC/PHETR K, AT RERIMAEELIRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=67 (2025-06-04)

R S it e  atad
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2816 I 3000

100 - 1984
1700 716 2000
0

RV (ml d-1)

454
50 -

- 1000

o
Warning: lcol [FVI',| "FVO’'] missing
-0

4 mm v — ME }
200 ~ +30.0

150 frmmmm e e e e e - N B R N R
-27.5

||
100 A ! \

50 - I I

-22.5

n
!

-25.0
I
|
[

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300 1 By tni 3000

@D69-01:44-—ET=1987 Fg=2550.0 Ro=537.0
-
200 - oo —o—o© - 2000

eIl
A (1A110 .

0 1 2 3 4 5 6 7 8 9 10 | 11 12 { 13 ] 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 22 | 23
01w [ |’ [/ (% [ [ B[ [B % |F | |B|B|K|#K[K[K[K[B[B[B|BE]|B

]
ByEt @D67 19:06: ET=2155 Fg=2352. 0 Ro=nan ‘ o o—o
]

100 + L 1000

cumET (ml/plant)

S A N —— -

3000

200 - 2000

100 + L 1000

¢
r
o
cumET (ml/plant)

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0
01w [ [B (R |m|w e [mw |/, |[w[6[@F|[@F|B| |6 |6k |K |6 [B[6[F[B |,

ByWoF

==}
I

A PN

200 - 2000

100 + L 1000

cumET (ml/plant)

1.0 -

0.8

0.6

0.4+

0.2~

0.0

—_— 4
o | _obs
—@— PPFD obs

1500

1000

500 -

RH
604 @ RH_obs
[ ) RHo_obs

40 -

.#.a‘ *'.'.k ® VP

hour



28.

27.

217.

26.

26.

25.

29.

29,

28.

28.

27.

27.

29.

29.

28.

28.

27.

27.

m=455, FV0=0

25.0 ~ o M_E
24.5
24. 0 A
23.5 A
23.0 A
22.5 A
22.0
T T T T T T
600 800 1000 455 460 465
m=585,m FV0=0 m=620,m FV0=0
0- —o— ME —o— ME
28.0 A
5 -
27.5 A
0 -
5 27.0 A
07 26.5
5 -
T T T 26.0 T T
585 590 595 620 625 630
m=725,m FV0=0 m=755,m FV0=0
5 —— ME 29.0 + —— ME
04 28.5 1
5 1 28.0
0 - 27.5 A
5 27.0 H
01 T T T 26.5 - T T T
725 730 735 755 760 765
m=865,m FV0=0 m=900,m FV0=0
6 30.0 -
—o— ME —&— ME
29.5 A
0 -
29.0 +
5 -
28.5 A
0 -
28.0 A
5 -
27.5 A
0 - T

870 875

900 905 910

29.

29.

28.

28.

27.

27.

30.

30.

29.

29.

28.

28.

29.

29.

28.

28.

27.

m=495, FV0=0

27 A

26 A

25 A

24

- ME

T T T T T T
495.0 497.5 500.0 502.5 505.0 507.5

m=655,m FV0=0

—e— ME

T T T T T
657.5 660.0 662.5 665.0 667.5
m=785,m FV0=0

—o— ME

T

785

750 7é5
m=945,n FV0=0

-o— M_E

945

950 955

27.

26.

26.

25.

25.

24,

29.

29.

28.

28.

27.

27.

29.

28.

28.

21.

30.

30.

29.

29.

28.

m=540, FVO0=0
0 - —&— ME
5
0 -
5
0 -
3 - T T T
540 545 550
m=690,m FV0=0
—&— ME
5 -
0 _
5 - [
0 -
5 -
0 - T T T
690 695 700
m=830,m FV0=0
—&— ME
0 -
5
0 -
5 -
830 835 840
m=985,m FV0=0
54 - ME
0 -
5 -
0 -
5 -
9é5 960 955




m=1040, FV0=0

31.0 A - M_E
30. 5 A
30. 0 -
29.5 -
29.0 H
T T T
1040 1045 1050
m=540,m FV0=0
28 A
—-— MW
26 -
24
22
T T T
540 545 550
m=690,m FV0=0
28 _ + M_W
26 -
[
24
22
690 695 700
m=830,m FV0=0
30 - -o— MW
29 -
28
27
26
25 -
24 -

830 835 840

30. 0 -

27.5 A

25.0 -

22.5 A

20.0 A

M_Ww

T T
800 1000

m=585,m FV0=0

T
600

27 A

26

25

24 -

23 A

22 -

21 -

—— MW

7

5é0 565
m=725,n FV0=0

28 -

26 -

24

22 A

—o— MW

750 7é5
m=865,n FV0=0

725

31 4

30 ~

29 A

28 -

27 A

26

25 -

-o— MW

7

865 870 875

m=455, FV0=0
23
—— MW
22
21
20
19 1
18 15 ; :
455 460 465
m=620,m FV0=0
28 - —— MW
26
24
22 4
620 625 630
m=755,m FV0=0
30

28 A

26 -

24 -

—o— MW

7

760 7é5
m=900,n FV0=0

755

31

30 -

29 A

28 -

27 A

26 -

25 -

-o— MW

900 905 910

m=495, FV0=0

28

26 -

24 -

22 -

20 -

—0— MW

T T T T T T
495.0 497.5 500.0 502.5 505.0 507.5

m=655,m FV0=0

28 A

27 A

26

25 H

24 -

23 -

22 -

—o— MW

T T T T T
657.5 660.0 662.5 665.0 667.5
m=785,m FV0=0

30

28

26 -

24 -

—o— MW

T

785

760 755
m=945,n FV0=0

30

29 A

28 -

27 A

26

25 H

- MW

945

950 955




m=985, FV0=0

31 -

30 -

29 -

28 -

27 A

26 -

—0—

M_w

985

T
990

T
995

m=1040, FV0=0
—— MW

31 A
30 A
29 A
28 A
27 A

T T T

1040 1045 1050
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P3-1

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

07:25 300 150.0 2.583 S| {Rig@07:25 Fzh (KRAERSE)
08:05 300 150. 0 2.583 E  BRi&%e08:05 F a1 (RAERE)
09:10 300 150.0 2.583 F[ BRi1%e09:10 Fa1 (GRAEREE)
09:55 300 150.0 2.583 S| {Ri%@09:55 F i (KRAERSE)
10:45 300 150. 0 2.583 E BRi%010:45 Fz1 CGRAERESE)
11:30 300 150. 0 2.583 = Rig011:30 Fzh (RAEESE)
12:10 300 150.0 2.583 =l RiB0@12:10 Fzh (RFAKEE)
12:50 300 150. 0 2.583 E BRige12:50 Fz1 GRAERESE)
13:35 300 150.0 2.583 5| {Ri%e13:35 F3 (RAERSE)
14:10 300 150.0 2.583 =l RRiB@14:10 Fz (RFAKEESE)
14:45 300 150. 0 2.583 E BRige14:45 Fz1 CGRAERESE)
15:25 300 150. 0 2.583 El 1BRi&e15:25 Fz CGRAEREE)
16:10 300 150.0 2.583 =l RRiB@16:10 Fzh (REAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 4813.0) IS
RER B HEREC/PHIE Rk, AT RERNIHRELR SR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=66 (2025-06-03)

T e g g S S S B S g s
VI, VBFRY, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

50

200 -

100

1200

448

Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

- 28

- 24

22

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300 A

200 -

100 -

p——&

By-lni

@D69 01:44: ET=1588 Fg=1650.0 Ro=235.0

AN S R £ S

4 4
a

0

1

s
2 3 4 5 6 7 8 9 10

13

- 2000

e & & o

- 1000

15

17

20

21

22

23

300

[

i

e [R5 [R5 [R5 | RS | F5 | F5 | s | R

3

B

ES
5]

E3
B

=
B

E3
B

E3
B

ES
5]

200 -

100 -

p——&

ByEt @D66 19:06: ET=1671 Fg=1606.0 Ro=nan

LD

@ 4
a

0

p-
2 4 5 6 7 8 9 10

11

12

- 2000

L L4

- 1000

15

17

20

21

22

23

300

[

==}
I

B

f5 BB | s | B[R | B[R | B

ES
5]

=
B

ES
5]

E3
B

=
B

E3
B

E3
B

ES
5]

200 -

100 -

ByWoF

@D69 01:44: ET=1616 Fg=1950.0 Ro=389.0

1.0

11

12

8 - 2000

- 1000

17

18

19

20

21

22

23

0.8

B B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0

1500

1000 ~

500 -

| _obs
PPFD_obs

25 -

20 A

15

10
100

80 -

60 -

40 ~

a0 VU

RH
RH_obs

RHo _obs

2.0 7
1.5 4
1.0+

0.5

0_0~

- 26 El

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.

25.

25.

24.

24,

28.

27.

27.

26.

26.

25.

m=435, FV0=0

29 1
——
28 - 27
27 1 26 -
26
25
25
24 - 24 A
T T T T T T
400 600 800 435 440 445
m=635,m FV0=0 m=680,m FV0=0
28 -
0 -
27 4
5 -
0 26
5 -
25
0 -
T T T T T T
635 640 645 680 685 690
m=815,m FV0=0 m=865,m FV0=0
0 27.25 4
5 27.00
0 26.75 -
5 26. 50
0 26. 25
5 26. 00 -
T T T 25 75 B T T T
815 820 825 865 870 875
m m=435,m FV0=0
30 S 30
—o—
28 28
26 7 26 - oo
24
24 4
22
22
20

400

600 800

435

440 445

28.

27.

27.

26.

26.

25.

25.

29.

28.

28.

27.

27.

26.

26.

28.

28.

27.

27.

26.

26.

m=530, FV0=0

T T
535 540

m=720,m FV0=0

T T
725 730

m=915,m FV0=0

920 925

m=530,m FV0=0

27 -

26 -

25 -

24 -

23 A

22 A

21 A

535 540

28.

27.

21.

26.

26.

25.

28.

28.

27.

27.

26.

28.

217.

27.

26.

26.

m=585, FV0=0
01 —8— ME
5 .
N .\.—.\.
5 .
0 .
5 .
585 590 595
m=765,m FV0=0
57 —o— ME
0 .
5 .
0 .
5 .
765 770 775
m=970,m FV0=0
01 &= B P
5 .
0 .
5 .
0 .
970 975 980
m=585,m FV0=0
271 —— MW
26 -
25 A \
24 -
23 -
22 -
21 1
585 590 595




m=635, FV0=0

26

25 A

24 -

23 A

22 -

21 -

—— MW

T
635

T T
640 645

m=815,m FV0=0

25 A

24

23 -

22 -

21 -

—— MW

T,

T
815

T
820 825

m=680, FV0=0

25 A

24

23 A

22 -

21 A

—— MW

T
680

T T
685 690

m=865,m FV0=0

25 A

24

23 A

22 -

21 A

—— MW

T
865

870 875

m=720, FV0=0

26

25

24

23 -

22 -

21 -

—0—

MW

T
720

T T
725 730

m=915,m FV0=0

25 A

24

23 A

22 -

21 A

——

M_W

T
915

920 925

m=765, FV0=0

25 -

24

23 A

22 A

21 -

——

MW

765

T T
770 775

m=970,m FV0=0

25 -

24 -

23 A

22 A

21 A

20 -

——

M_W

970

975 980
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P3-1

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

08:15 273 150.0 2.583 = {RRiB008:15 Bz (RFAEEE)
08:50 273 150. 0 2.583 E  1BRi&e08:50 Bzl (RAERE)
09:35 273 150.0 2.583 5| {Ri%@09:35 B3 (FRAMERSE)
10:15 273 150.0 2.583 =l RRiB010:15 Bz (REAEESE)
11:05 273 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
12:00 273 150. 0 2.583 5| {Ri%e12:00 B3 (RAERSE)
12:35 273 150.0 2.583 = {Rige12:35 B3 (RAERSE)
13:10 273 150.0 2.583 (Z=| 1Ri%@13:10 Bz (REERSE)
13:40 273 150.0 2.583 (£=| {Ri%e13:40 B3 (REAEDSE)
14:10 273 150.0 2.583 (Z=| 1Ri&e14:10 Bzh (RAERSE)
14:40 273 150.0 2.583 (Z=| 1Ri%e14:40 Bz (REAERSE)
15:10 273 150. 0 2.583 |Z=| BRige15:10 Bz (GRAERESE)
15:45 273 150.0 2.583 |Z=| BRige15:45 Bzh (GRAEEE)
16:30 273 150.0 2.583 (Z=| 1Ri%@16:30 Bz (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

R FERRETC (600) 57EA (278. 0) 1%, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.

[@;&REC 5380.0 K&, E#iNMF{KECAR & M%E R

HEEIRECE (1907.0 vs 5380.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=65 (2025-06-02)

T e g g e S S B Sy

100 A

50

400 -

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

570 70440

"FVO' ] missing

146 Warning: lcol ['FVI’,

200 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 -

Bylnit @69 01:45: ET=1622 Fg=1800.0 Ro=242.0

ok

5 A T o

et — —
0 1 2 3 4 5 6 7 8 9

10

g

11

14

15

i 3000
- 2000

- 1000

16

17

18

20

21

22

T
[ =]
o
o
o

23

EHEFNEFREFHEFEFHE AN

E3
B

ES
5]

E3
B

ES
5]

=
B

E3
B

E3
B

=
B

E3
B

E3
B

ES
5]

300 -

200 -

100 -

ByEt @65 19:21: ET=1911 Eg=1267.0 Ro=nan

ok

- 2000

- 1000

 —
0 1 2 [ 3 [ 4] 56 7] 87109

10

11

21

22

T
[ =]
o
o
o

23

EHENEFREHEFREFHEF L AR AN

[

ES
5]

E3
B

E3
B

ES
5]

300 -

200 -

100 -

i
ByWoFv @D69 01:45: ET=1792 Fg=2100.0 Ro=419.0

/-/II

1.0k

10

11

12

- 2000

- 1000

19

20

21

22

23

0.8

EHENEFREFHEFREHEFH L AN AN

E3
B

ES
5]

=
B

ES
5]

%=

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0

1500 ~

1000 ~

| _obs

PPFD_obs

40 -

RH
[ ] RH_obs
(] RHo_obs
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